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Time allowed : Three Hours] - [Maximum Marks : 200
A WRT—1/Part— 1 |

3% - 30 ; , Marks —30

Ae: AN H B 15 WA 8 | avft e st § |y e o for 02 ot frifa
2 | (ITCEHT ; 20 IIT) |

Note : There are 15 questions in this part. All questions are compulsory. Each
question carries 02 marks. (Answer Limit : 20 words)

1. Wﬁw%?mmﬁmmﬁm| [STR T : 20 9]

What are electromagnetic waves ? Mention their properties.
[Answer Limit : 20 words]

2. i Rraves e A were § faste Hifv | e e : 20 ¥Ise)

Differentiate between nuclear fission and nuclear fusion. [Answer Limit : 20 words]

3. &% 8 A T AT % T hi FHSAET | ' ' [3T T : 20 T15g]

Explam the effect of temperature on surface tension of liquids.
[Answer Limit : 20 words]

4. TevEe DT STt % ST 1 Seer@ hHiT | _ [Eauﬂmzzom]
Mention the applications of Global Positioning System (G.P.S)).
[Answer Limit : 20 words]

5. ST ) TR ST auT T e w1 See@ v | (ST : 20 1]

Define watershed and mention its importance.
[Answer Limit : 20 words]

6. ‘Sonved STREW & ANUROT AR 7 [ST EH1 : 20 T2

What is the concept of ‘Biosphere Reserve’ ? [Answer Limit : 20 words]
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7. wiowen-fem ¥ wEw FI GuEE | - [T EfT : 20 TR]

Explain the importance of immunology. . [Answer Limit : 20 words]

8. Wﬁm@ﬁwﬁwﬁtmﬁwm@r [3T T : 20 W]
_Explain the difference between active and passive immunity.
[Answer Limit : 20 words]

9. @mw&tmw% 7 el T afgarhi % e g | [ EmT ; 20 WTeg]
What are food preservatives ? Name any four preservatives.[Answer Limit : 20 words]
10. Tefree e i fosmansti #1 eere HIfT | [3e &t : 20 wse]
Mention the features of digital computers. [Answer Limit : 20 words]

. ; . f
11. 3TRREVE % fo@ &3 1 31— Haeeiier & mfva frammn @ 2 [STRH : 20 98]
Which area of Uttarakhand has been declared as Eco-Sensitive zone 7
[Answer Limit : 20 words]

12. mﬁ?ﬁﬁ-ﬁw% ? 7% HETE! 1 3ol SHIT | : 'patmm-'zow]

What are molecular markers ? Mention their significance. {Answer Limit : 20 words]
13. a%aﬁqamaﬁt@@ﬁg@msﬁmﬁﬁml [aawf’rm.zow]

Indicate the main dlfference between exocrine and endocrine glands.
[Answer Limit : 20 words]

4. 3- ﬁa@ﬂwmmmwg’r% TH HYH ! GHTATEAT AT | [ST I : 20 715E]
‘E-mail is not a real time communication system’, comment on this statement.
[Answer Limit : 20 words]

18. fzca(Tmpsmnsﬁ%asu@mmw%? | [3TR i : 20 We2]

What are the basic principles of TRIPS Agreement ? [Answer Limit : 20 words]

YT—2/ Part -2 : !

U FHE - 50 Marks — 50

e : mmﬁ@ﬂmw%lmﬁwaﬁmé%:mm%%wsm
fFrerifea € | (ST E : 50 =)

Note : There are 10 questions in this part. All questions are compulsory. Each
question carries 05 marks. (Answer Limit : 50 words)

6 é@ﬁmﬁf&qﬁ%mmgm@wwﬁwm@rm | wETUTEE W Eie fevaoft

forRaw | [3TR €19 : 50 77s8)
Classify the chromosomes on the basis of posmon of Centromere. Write brief
note on giant chromosomes. [Answer Limit : 50 words]
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Wﬁﬁmﬁwmwmwamﬁmﬁm l
, [T i 50 s3]
Describe any four diseases of honey -bees and their main symptoms.

: : [Answer Limit : 50 Words]

Sretersa BUIG qu A -diclerset $AR § 9 e 7 [3T i : 50 975g]

Write the differences between volatile memory and non-volatile memory.
[Answer Limit : 50 words]

TGS I TSI 3TTIE] STeihaT oot (TH. 2137, U%. ) Y TToHT sl <hl 178 oft qen
T e gt 5o o fog e frsier 2 7 ;  [STHET ;50 ¥sg)

When was Stafe Disaster Response Force (S.D.R.F.) established by Uttarakhand -
and who is responsible for State Disaster Response Force ? [Answer Limit : 50 words]

1

W%ﬁ%@mmmﬁq%www% ?wmﬁﬁql

[T €41 : 50 wIsg]
What are the main reasons of land slides and avalanches in the Himalayan region ?
Mention them. [Answer Limit : 50 words]
SIS 9T % B9 % RN T JooE Hig | [T EH : 50 91T
Mention the causes of Ozone layer depletion. - [Answer Limit : 50 words]
W@ﬁ-n@%ﬁﬁmﬁmwﬁﬁmﬁmmﬁml [T T ; 50.9758]

Give an account of cultivable species of fishes in Uttarakhand. -
[Answer Limit : 50 words]

Wntﬁoﬁﬁﬁa(o)ﬁméﬁﬁmﬁmwww%?mw

ATy | [3T HMHT ; 50 31%2)
Why is blood group O-negatlve (O7) considered as the universal donor ? Give the

reason for it. [Answer Limit : 50 words]
O oo ) wEifafy S awsEe | ' [3TR &1 ; 50 3158
Explain the working mechanism of Solar Cell. [Answer Limit : 50 words]
S el # 3T WIAfE o =l i sAren HHY | - [STREE : 50 ¥Ieg]

Explain the steps of data processing in Computer Sysfem. [Answer Limit : 50 words]
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<9,

30.
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32

3% — 80

33.

HT-3/Part-3

AL 39 9T 8 %6 07 I § | 3reff fopedt 05 9ol o1 S € | ueieh oA %
fore 08 376 ferifea 8 | (I i ; 125 wi=e)

Note :  There are 07 questions in this part. Candidate should attempt any 05
questions. Each question carries 08 marks. (Answer Limit : 125 words)

@aﬁm-wmﬁwaﬁﬁ%mﬁm [T HHT : 125 915

Explain the structure of glucose, and its method of testing. [Answer Limit : 125 words]

gt o o P e e wm AR | [ 125 )

Describe the objectives of National Air Quality Monitoring Programme.
[Answer Limit : 125 words]

S5-I 3 YR TE e o wfde fore dfv | - [FEREm ;1257
Give a brief account of types and advantages of bio-fertilizers.

: [Answer Limit : 125 words]
10T TE T8 A1 o He & A T E 7 [ST =i 125 91sc]

What are the basic differences between Rural and Urban planning ?
[Answer Limit : 125 words]

TSN IS4 =5k U I 7aFa1 ] GHIATRT | [T i : 125 912
Explain disaster management cycles and its components. [Answer Limit : 125 words]

AT hT TN TS IIITE o & F SFATIIRT b1 JUI hITTT | [I & ; 125 e

Discuss the applications of nanotechnology in the field of agriculture and animal
husbandry. [Answer Limit : 125 words]

TR - AR & 319 T THE § 7 36 ST 1 Jeei@ I |
[ 125 W]

What do you understand by ‘Genetic-Engineering’ ? Mention its applications.
[Answer Limit ; 125 words]

‘H1"T—4/Part—4

M: IUMHPA 0731?:[% |- 37sreff Tehee 05 9T &1 TR < | edish W3e o ferg
16 37 fuifia € | (w250 7=0)

Note : There are 07 questions in this part. Candidate should attefﬁpt any 05
questions. Each question carries 16 marks. (Answer Limit : 250 words)

ﬂmwaﬁw(mﬁtﬁm)ﬁmwm% ?ﬁa TN | 98

HEEqUi @ 7  [STR T ; 250 YeE]

What do you understand by Intellectual Property Right (IPR) ? Why it is
important in biotechnology ? [Answer Limit : 250 words]
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34.

35,

36.

37.

38.

39,

I T TR, 1980 31 g fasryarsti i ==t HivT | [STR HHT ; 250 eg]
Discuss the main features of Forest Conservation Act, 1980.
[Answer Limit : 250 words]

‘Fr=e fagm qen Senfieh’ %%ﬂﬁwﬁmﬁﬁwaﬂhaﬁﬁm
[3TR 9T : 250 9185

Discuss India’s achievements in the field of ‘Space Science and Technology’.
; [Answer Limit : 250 words]

Sor-wu= st fafir= faftrer = avfa Hifs | [T & : 250 ¥1sg)

Desaibe the various methods of water-puriﬁcation. [Answer Limit : 250 words]

nagqapm%arg‘mww@%% ?mﬁﬁmﬁ%«mtﬂm% ?m%aqzavﬁ
1 ==t Hifse | [STR T : 250 veg]

What are n-type and p-type semiconductors ? How are they prepared ? Discuss
their uses. [Answer Limit : 250 words]

FRTHEH TEaT 3T FHTUNRTOT & 3179 1 qHEd 8 ?ﬁﬁ:maﬁa@ﬁ@mg{m

1 WY H FHSTET | STEAH{ER GO FUTell % SR b e W i |

[STR =T ; 250 375¢]

What do you understand by biometric identification and authentication ? Explain

in brief the different types of biometric security. Also list the applications of
biometric security system. [Answer Limit : 250 words]

(a) -6 TUT AIAN 6, G%W@Wﬁqwmﬁmﬁw

Iooig T | j [ST T : 125 TTsg]

Explain the synthesis of Nylon-6 and Nylon 6, 6 and mention their
applications. [Answer Limit : 125 words]

(b) - I ST ¢ & forw Hedidifean 1 IqEm & R S & 7 geehl
ST I | [ST T : 125 715
How is multimedia used to promote e-commerce ? Discuss it.
[Answer Limit : 125 words]
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T IR TE STER-
(General Aptitude and Ethics)

ReiRa a7 : fi7 e8] 3 [ gt : 200
Time allowed : Three Hours] b [Maximum Marks : 200

HT—1/Part-1

3% -30" k - . Marks-30
fe: M pa 157§ | wht v stfer # | s v % g 02 o fuifa # |
Note:  There dre 15 questions in this part, All questions are compulsory. Each question carries
02 marks.

i ﬂ%aﬁﬁwﬁﬁammmﬁaﬁm 15, 30, 38, 40@ﬁm%aaﬂﬁmqéa
2V EEATS |

Find the smallest number of 5 digits which divided by 15, 30, 38, 40 respectively always leaves
2 as remalnder

18+'4 1 1

(5+\/7) (ﬁ+J§) +(«/§+«/§) +(J5+1)

3, - T wa 1 4 o, 5 Frelt AR 3 A g E 1 afex 1m$ﬂt1:ﬁ?ﬁﬁﬁﬁwaﬁﬁ3ﬂty:2m
3t 1 Hfreft i Frerer =6t miterand & | @@ x + y F1 AW 5 B | (7T Fgms Frerwed w@ E )

A box contains 4 red, 5 black and 3 blue balls. Let x be the probability to draw 1 red and 1 blue
balls and y be the probability to draw 2 black and 1 blue ball. Find the value of x +y ? (Balls are
drawn at random.)

2. HIH 319 sHITST / Find the value :

4, WA 3R B2 wEs gt & IWﬁP(A)=%3ﬂTP(B)=l,Tq'P(AuB)WWW‘EﬁTﬂ?

] 1 4 {
Let A and B be two independent events. If P(A) = 3 and P(B) = %, then what is the value of P (A W B) ?

5. afy © H@ B 5% =T S @ 3R R 10% s S R @ wiw s, g sen ¥ e
werre &) 31 91 2

If a number is decreased by 5% and then increased by 10%, then how much in percentage the
obtained number is increased or decreased from the original number ?

6. aﬁaﬁ'ﬁmﬁrk%aﬁﬁmmaﬂatﬁmwﬁ7gvn€fm?ﬁ%aaarmﬁanz%
Tepertt 20ft 7

If a certain sum of money becomes 7 times at the simple interest rate of R% p.a. in 24 years then
what is the rate of interest R% ?

SPS-07 G 58




7. T e % 15,000 T T FT @HEE 2 3 T TIer g I < 20,000 F 9 <A R | B8 WEH
7e, 7 Tt 36 A T 35,000 F wlied & AR 2 40,000 7 = 21 & | SHI SH-37 T 39 FATEHT
! Fe et e o freran @ 7
A man buys an old car for ¥ 15,000 and after one year sells it for T 20,000. After six months,
again he buys the same car at ¥ 35,000 and sells it for 7 40,000. What is the overall profit percent
for that man over both the transactions 7 :
8. Tt g x 2%@%'@%%@%% | $5 YR ITH TG H 6 F O Hh ITH
y ST ST & | 59 SR 3ie: STH S, T T h 11 R | (2x + 2y) BT A F1 8 2
A number x is multiplied by 2 and then subtracted % from it. The resulting number so obtained is
multiplied by 6 and then a number y is added to it. Finally, obtained number is 11 times of the
original number x. What is the value of (2x +2y) ?
9. @W%ﬁ%mﬁmﬁm@mm grae, 8 ft, Frean aret gt 3R 36 o AL
e aTet VS % SR & A1 % e E | ;
Find the length of diameter of a circular ground whose area is equal to the sum of the areas of a
circle with radius 8 m and a triangle with'area of 36 m sq.m. .
10, S-S B geateT % wew o fasn i | [3T EHT ; 20 155
Discuss the importance of ‘Integrity’ in Civil Administration.
L [Answer Limit : 20 words]
11, U Ee B AT MO0 B H T AW E ? : % [3TL | ; 20 ¥Isg)
What are the benefits of having a Citizen’s Charter in an organization ? '
_ ) [Answer Limit : 20 words]
2. FPERIomFEEAE? : [Fe i : 20 Y]
What do you understand by attitude 7 [Answer Limit : 20 words]
13, e 3 @R T T 8 79 Aferss 707 €9 1R ¢ [ST ET : 20 W)
According to Kautilya, what should be the ethical qualities of a King ?
[Answer Limit : 20 words]
14, weR-yeTeE 8 wayfa % e SaTET | (ST & : 20 W)
State impact of ‘empathy’ in civil administration. . [Answer Limit : 20 words]
15. 3T9e] Yy & 39 1 S § 7 (3T HmT ; 20 sG]
What do you mean by disaster management ? [Answer Limit : 20 words]
HIT -2/ Part—-2
3 - 50 Marks — 50
A2 s@rﬁmﬁgﬂlomﬁlwmaﬁaﬁ%ma)msrﬂ%ﬁmosaiiﬁﬁﬁfﬁa%l
Note : There are 10 questions in this part. All questions are compulsory. Each question carries
05 marks. : #
16, a1 a1 Frshm HEEn’ aﬁ@aﬁﬁaﬁﬁﬁmgﬁm&ﬁwmmmm% ? T
Hq difer | [3a €15 : 50 9re5]
Can the ‘Niskama Karma Yoga’ of Bhagavadgita resolve all the ethical dilemmas of civil servants ?
Comment. [Answer Limit : 50 words]
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17:

18.

19.

20.

21,

23

23

24.

25.

Afeen Tt 3 wu § ‘i ¥ fwa i ==t B |  EmEm 50 Y=
Discuss about ‘conscience’ as source of ethical guidance. [Answer Limit : 50 words]
Tt fereeRg & T -Teha s Fe =T A | [ 50 T
Discuss Swami Vivekananda’s contribution regarding national integration.

[Answer Limit : 50 words]
T 1 ST im0 e Rt aaen 3t 3% crE & T ¥ $O e ST
AT | : [3T HIT : 50 I1ET)

State the salient fearures of RTI Act and suggest some safety measures to avoid its misuse.
‘ [Answer Limit : 50 words]

ol 2 fSo® ag=rat A w@ B f5H wmw: 5 vd 6 7 F, % fow A U B H a1 6 AW @
srfirepan gevTfea sed # & 7

~ For an:y two arbitrar}l sets A and B containing 5 and 6 elements respectively, what are the possible’

minimum and maximum numbers of elementsin AU B ?

qmaﬁ%ﬁm%mﬁg(s 4) 3 (1, —1)% lﬁwaavﬂaﬁ@aﬁ%ﬁ%mmmﬁﬁq |

The end points of a diagonal of a square are (3, 4) and (1, —1). Find the coordinates of the
remaining angular points.

ws iier | 1, 3R ofi witra fawer & gorfes sFmen: 120, 140 3R 100 & | v B W fowi |
SHET: 40%, 55% 3T 45% 37 WTH HTa1 ¢ | 98 fagw fawa, frwes qoie 180 37 2, ﬂﬁrﬁeﬁ
TR &t fop =il foweli & S!St weh Sfesaar 60% B 9 |

In an examination of Hindi, English and Mathematics subjects, the total marks are 120, 140 and
100 respectively. A student gets 40%, 55% and 45% marks in these subjects respectively. How
many marks should he get in the Science subject out of the total 180 marks in it so that his
combined percentage of marks obtained in all the four subjects becomes 60% ?

JTE TS 57, 110, 112, 114, x, 118, 120, y W fmm =1 | fe aferet &1 area R mfeys
FE: 108.5 3T 114.5 & @& y — x 1 HH 41 8111 2

Consider an ascending data 57, 110, 112, 114, x, 118, 120, y. If the mean and median of the data
are 108.5 and 114.5 respectively, then what is the value of y —x ?

3T ABCD % = 3wl & fEwms A(2, 3), B3, 0) T C(9, 2)%|a:rmaaﬂéawaﬂtﬁwaD
=) e A $if |

The coordinates of three vertices of a rectangle ABCD are A(2, 3), B(3, 0) and C(9, 2). Find the
area of the rectangle and length of the diagonal BD.

A el a7 1 15 o e 3, B 5 v 1 ot e & rf B 3 frerert e
1 ferwt 1 A s 9 &qﬁ—ﬂaéaﬂmaﬂ:ayﬁaﬁmﬁ 7 L1
T EAT ?

A completes a work in 15 days, B completes the same work in 8 days while B and C jointly
complete the work in 4 days. If A and C jointly complete the work in x days and A and B in y

days, then what is the value of L9
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26.

27,

28.

29,

30.

314

HMT—-3/Part-3

e: 5@ Fe 07 W H w2 @vs § | wvs-1 ¥ 04 W § @ et 03 Wl wve-2
F 03 731 § @ Tohgl 02 wwa1 1 3w e w1 e 2 | v v % fo 08 31
fauffa & |

Note : There are 07 questions and 2 sections in this part. [t is compulsory to answer any three
questions out of four selected from Section-1 and any two questions out of three
selected from Section-2. Each question carries 08 marks.

- @ug-]/ Section-1
| ATWHTT / General Aptitude

1 uftfird g A U6 B H T m 3 n o € | 9= A % STesR 6 $o1 56 G B %
mﬁ%mﬁmm%l(mm)-wmmﬁﬁm

‘Two finite sets A, and B have m and n elements respectively. The total number of subsets of the
set A is 56 more than the total number of subsets of the set B. Find the value of (m + n).

famg A(0, 4), B(1, 3) T C(6, 0) Byt ABC'% i farg # 1 farg D T@T@vg AC #1 1:3 % 31 #
ar=: fonfore sean @ | forg D % Frderiess @en P ABD & & =1 Py ABC & aﬁmﬁ
ITel T HIT |

Points A(0, 4), B(1, 3) and C(6, 0) are the vertices of the triangle ABC. Point D divides the line

segment AC in the ratio 1:3. Find the coordinates of the point D and the ratio of the area of

triangle ABD to the area of the triangle ABC.

fermferea g @ x 79 y % w1 1 Hif
X 298 3x 4y

Find the values of x and y from the following equaﬁons :

2.2 13
—+—=—and—+—=-1
X 2H°H 3x 4y

s ST 2 15,02,000 1 A, BUS C H AT § : 7 : 8 %.3797a ° wier 7 | i 3 3A94-37194 €
T FTYRN SIS T HHI: 4%, 5% IR 6% 61 T g & 77 2 91, 3 §1F 37N 5 9 & forg &6

5t 0 e | aw A 3R C g sifa arumo s w5y |

An amount of ¥ 15,02,000 was divided amongst A, B and C in the ratio 5 : 7 : 8 fespective'ly. All
the three deposit their amounts in a bank with simple annual interest rates of 4%, 5% and 6% for
2 years, 3 years and 5 years respectively. Find the simple interests obtained by A and C.

T us-2 )’ Section-2
SATAN-9%A / Ethics

Marks — 40

AT TR # T9TEA % gey # TReTAT % gET 1 9uie | [STRCHMT ; 125 755

Describe the mgmﬁcance of transparency in the context of admlmstratlon in the present times.

[Answer Limit : 125 iavords]

“HATH qfg' 1 aTead warsy 3R 3! ITAIfTaT 1 Ieei@ i | [ST #fieT : 125 77eq)

State the meaning of ‘emotional intelligence’ and point out its utility. [Answer Limit : 125 words]

SPS-07 : - 61
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32.

Triefislt 3 STETR HTA ATHIR SUEAT (A19) F1 E 7 IR IR Giga Ieor@  HIAT |
[T HH=T ;125 9]

According to Gandhiji, what are the seven social sins ? Illustrate them.  [Answer Limit : 125 words]

"HTT -4/ Part—4

FHE - 80 Marks - 80

33.

34.

35.

36.

e : wmﬁgmmm%amz@vs% | Ve -1 % 04 5 & & Rl 03 Wl U wUe-2
03 e & & R 02 et w1 I e s s | e 9 & T 16 3 feff@ § |

Note : There are 07 questions and 2 sections in this part. It is compulsory to answer any three
questions out of four selected from Section-1 and any twe questions out of three
selected from Section-2. Each question carries 16 marks.

i : @Ug —1 / Section-1
HqH Eﬂﬁﬁﬁl / General Aptitude

= et A, Bea’ftcmmﬁaqan —~ T AT 24, 363ﬁt43ﬁ=rﬁugrm% | afe & it
T F1Y FH HAT L& F & 3R C, 4 77 91 H10 HT 5 LA A FH @ EA 3 e

&S & DS 31 & & 131 W fehad fom # qu g Smom |

Three men A, B and C can individually do a work in 24, 36 and 48 days respectively. They start
working together but C left the work after 4 days and A left the work 3 days before completion of
the work. In how many days the work will be completed ?

T 3TeHt U gred (B3 I 1214% T W R 20,475 T =T § 7T 9E TH WS H T 1,456
# g | d=ar & | 3l St 3k Aresd B FF g S 2 q R FRER F HA AN AT &
sifereraraT S HifT | '

A man sells a TV at the profit of 12/4% in T 20,475. Also he sells a mobile phone at the loss of-
% 1,456. If the cost price of the TV and mobile is same, then find the total percentage of loss or
profit in this business.

frfafian sAfes W fmm =t
a1} afawer | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100
oo | S 10 15 x 22 10 y 8 3 1.

x AT y &1 WA T B afe wifereT 45, SRR F F a0 N = |003ﬂ1=rrf§m$w

40-50 8 | fHeT 1 wEEre off 7T HifT |

Consider the following data :

Class Interval | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100
Frequency 5 10 15 x 22 10 y. 8 3 4

Find the values of x and y, if the median is 45, total sum-of frequencies N = 100 and median class
is 40-50. Also find the mode of the data.

T SRE HO GFRT 1214% 1 A1fifes Trhgfe oo G H IUR AT & | T8 U i A1 s ol A
TTE STH HTT R | T Fvd T 91,854 1 2 | 35 g A I A WA F@ A |

A person lends some money at 12%:% annual rate of compound interest. If he gets the amount
returned in three equal installments each of ¥ 91,854, find the amount of interest earned by him.

SPS-07 62




37,

38.

39.

WUS -2 / Section-2
HAER-3IMH / Ethics

7fE 3T S Yaw! 3 s I -giEar Ffifa e @, @ s R e smamem ge @@
srfiRe o =T 2 [T EiwT : 250 Ieg)
If you have to prepare a ‘code of ethics’ for the civil servants, which five fundamental values will
you want to prioritize ? [Answer Limit : 250 words]

Preferfiaa wertor Y aEaTigEes ufew qut = fom eyl o IR i

Y T THH FETE & HEE § | 3TH FHAME & A6 &g $9 7H6H it §, o
fau aye! faasiusn foar mn R | R wehE e 3 e f e g 5 R i
T off o femn & | ok st wftre, 91 39eh 3reda e €, 39 I 37 § 3R e
£ fop 37 T off il w9 & sreaey € 3t 3@ T e § 5= wufteRa frerdt =mfen | sAifRE
wigaTerd 3 3% TeATEed 1 Wi Y 3N I TeaTae i EEIgEn 7 U e e e e

:%Wﬁvm%mwa:mwﬁﬁaﬁaﬁwsﬁﬁmmﬁ%

7 ufifRfeat & o @ S 7

(a) 39 I8 HI HHL F g 37T I FTd fop mmﬁﬁfe‘rm% )

(b) SEeh! 1 o & FTq 38 Wk armefed LA |

(¢) M9 FHATCTET TG T FHIGT L Tg Tarn fh maﬁiqmqﬁm%f |

(d) 319 GEEg TATEEAT (HIE) 9 UTH T@ o1 1T H1E HATC Iita T8l it | - [0 T : 250 =]
Study the following case carefully and answer the questions that follow :

You are the head of your Government office. There are certain houses reserved for the allotment

to the officials and you have been given the discretion to do so. A set of rules for the allotment of

the houses has been laid down by you and has been made public. Your personal secretary, who is

- very close to you, comes to you and pleads that as his father is seriously ill, he should be given

priority in allotment of a house. The office secretariat that examined the request as per the rules
turn down the request and recommends the procedure to be followed according to the rules. You

do not want to annoy your personal secretary.

In such circumstances, what would you do ?

(a) Call him over to your room and personally explain why the allotment cannot be done.

(b) Allot the house to him to win his loyalty.

(c) Approve the office-note to show that you do not indulge in favouritism.

(d) Keep the file with you and not pass any orders. ' [Answer Limit : 250 words]
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Study the following case carefully and answer the questions that follow :

You are a Chairperson of a State Sports Committee. You have received a complaint and later it
was found that an Athlete in junior age category, who has won a medal, has crossed the age
criteria by five days.

In such circumstances, what would you do ? .

(a) Ask the screening committee for a clarification.

(b) Ask the athlete to return the medal.

(c) Ask the athlete to get an affidavit from the court declaring his/her age.

(d) Take the opinion of the members of the committee. [Answer Limit : 250 words]
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